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2 A 76,667,381 | 34,880,100 | 41,787,281
100 224+ 70,330,130 | 32,858,849 | 37,471,281
110 ERRRMAAE 2,000,000 2,000,000 0
114 OE2HZ3&rY 2,000,000 2,000,000 0
01 Ojeg2¥Zs|ssY 2,000,000 2,000,000 0
- OlEfZ¥Fs e 2,000,000,000¥ = 2,000,000
170 A2ddza4+¢ 64,330,130 | 22,858,849 | 41,471,281
173 ER[AHEERZ Y 61,979,690 | 16,329,849 | 45,649,841
01 =Z21nERIFZ4Y 47,816,500 13,260,849 34,555,651
o TEX{2[(3,5,6&2F) ote-=E JH|AIY 2,390,000,000¥ = 2,390,000
o HEX2|(1,227) strH= ZHAY 342,000,000 = 342,000
0 Y*{2/(9,102 ) ot = FH|AIY 12,650,500,000¥ = 12,650,500
o 2H4H(1,2,7) ot 2 ZJHIAFY 3,899,000,000& = 3,899,000
0 YA 2|(8ET) stttz FH|ALY 9,623,000,000¥ = 9,623,000
0 SYH2|(6,727) otrH= FH|AIY 2,733,000,000¥ = 2,733,000
0 OIZ (227 M|+ L oteX2| HYAH stttz HH|AY
2,635,000,000¥ = 2,635,000
o0 TE(3,42) o= ALY 2,321,000,000¥ = 2,321,000
o AT =F = JH|AY (O3t H3}) 1,360,000,000¥ = 1,360,000
0 3&otEAEAld SHAIY 5,002,000,000¥ = 5,002,000
o otZt2 ZH| BTLAIY A|dUtH= 4,861,000,000¥ = 4,861,000
03 AlzHEZRZSY 11,987,190 1,958,000 10,029,190
o TEX{2[(3,5,6&2F) ote-= JH|ALY 478,000,000¥ = 478,000
o HEX2|(1,227) stz FHAY 68,390,000¢ = 68,390
0 =¥*2[(9,102 ) otrt2 JH|AIY 3,005,800,000& = 3,005,800
0 2H4H(1,2,7) otet2 A 863,000,000¥ = 863,000
0 YA 2|(8E2F) ot-t= ZFHIAIY 2,013,000,000% = 2,013,000
0 SYH2|(6,727) otrB= FH|AIY 580,000,000¥ = 580,000
0 OIZ(2&7) 2|79 L ot 2| HYLH stttz HHAY
566,000,000% = 566,000
0 HEH2[(3 427 strHZ FH|AY 773,000,0009 = 773,000
o AT =F U= JH|ALY (O3t I3} 634,000,000¥ = 634,000
0 3&otEAEAId SHAY 2,501,000,000% = 2,501,000
o otZt2 AH| BTLAIY A|MUtH= 486,000,000¥ = 486,000
o0 U GPREAT 24| 19,000,000% = 19,000
09 7|EfHEEZRZ+Y 2,176,000 1,111,000 1,065,000
SU*2[(9,1027) otet=E FH|ALY 1,300,000,000¥ = 1,300,000
o 3HH(1,2,72F) otet2 JH|AMY 153,000,000¥ = 153,000
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0 SYA2| (8T T) SHt= HHIALY 10,000,0009 = 10,000

0 SY%2|(6,727) St HHIAIY 80,000,000¢ = 80,000

0 OtZ22 7 Stet2 EH|ALY 77,000,000¢ = 77,000

o UF L2 A2 YH|AY (2, Ft) 61,000,0009 = 61,000

o St E | BTLAIY A= 486,000,000¢ = 486,000

0 B=3,5,627 Ste=2 HHIALY 9,000,000 = 9,000
175 SMEEs+Y 2,350,440 6,529,000 | 24,178,560
09 7EtSAIRESTY 2,350,440 | 6,529,000 ~4,178,560

o otilt ARIAR S 1,305,800 x1,800m = 2,350,440
180 REZS 4,000,000 | 8,000,000 | ~4,000,000
181 =MAYAZ 3,000,000 7,000,000 | 4,000,000
01 &MAYAHZ 3,000,000 7,000,000 | 4,000,000

=MAYAS 3,000,000,000& = 3,000,000
182 Dl&a 1,000,000| 1,000,000 0
01 Jdol==z 800,000 800,000 0

g0z 800,000,000 = 800,000
02 VIElO|x3 200,000 200,000 0

7|ElO|Z2 200,000,000 = 200,000
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